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e p. 63:
ot )] < ol + 137
(a:2+y2)2y @2+ 2)? Y=y Y
%
' Y ol < 3y =4
(22 +y2)29+ (22 +y2)2( y)| = |yl + [3y] = 4|y
IZRTIE,
e p.83: T{TH :
fo = For—= foyy = (fay)y = (fyx)y = fyay
ERTIE,

e p.83: 114TH ¢ “f, D 2 FEREKE” % “f, D 2 BEREEE" (CFTIE,
e p.83: 171TH :
fyIQC = fya:y = fyyz: — f;z:yy = fyggy = fyya;

Eallk,
o p. 1261 34TH 1 Oy DEHT, 2,y>0 % 2,y=0 15T,
¢ D 181 : 3??@ : Q(yl,yg) z C’l[a, b} G:{I%_EE

e p. 194: (f —g)(z,y)(2,y) —9(z,y) & (f — 9)(=,y) = f(z,y) — g(x,y) I<ATIE.
e p. 200 : [GE] (FXFAMZLIEK) po(x) & p3(z) ZZNZN po(x,y) & ps(z,y) ITIEIE.
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